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Topic:- Physics

1) A boat is sent across a river which is flowing with a velocity of 8 km/h. If the resultant velocity of the boat is 10 km/h, then the
velocity of river is : /

g;ﬁﬁ@ﬁ%ﬁ W1 STt 8 Wit 8 fpef/eer & A =ardt 31 afe =g &1 ufomsd aa 10 fHfieer 8, at At &1

1. 8 km/h / 8 fosd/der
2. 6 km/h / 6 fpHi/Eer
3. 12 km/h / 12 fopHi/eier

4. 10 km/h / 10 fopHi/eer

Correct Answer :-

« 6 km/h /6 foHl/Eer

2) A block of metal weighing 2 kg is resting on a frictionless plane. It is struck by a jet of water which releases water at the rate of
1 kg/s and at a constant speed of 5 m/s. The initial acceleration of the block is: /

2 f5uT oo arelt UTg &1 U g eT, U THURIRT THGd UR ¥AT g1 7 1 9% U & Sie A edpRmar @ ot 1 fFmA F R
IR 5 A B R 719 | o Freded FRar 31 gpe o1 vt @ror @:

1.3.5 m/s? /3.5 HIA2
2.2 m/s? /2 A2
3.2.5m/s2 /2.5 W2
4.3 m/s? /3 HA?

Correct Answer :-

e 2.5m/s2 /2.5 HA?

3) The surface tension of soap solution is 70 x 103 N/m. The surface energy of soap bubble in air of radius 1 cm is: /
g & fIaa ST Y- ad 70 x 10 N/m 81 3@ 1 I B S gar A g1 S qaqad P Y ot @ :
1.1.76 x 1047

2.0.0887J

3.0.088x 107

4.0.176J

Correct Answer :-

e 1.76x 1047



4) Above the threshold frequency, as we increase the frequency of the incident radiation, then: /
TUTIRITHT AT F SR, S 8t g0 muferd iz oY smqfy &) 9grd 8, o

1. the work function of the metal increases / YT T F- e e SIdl H

2. the intensity of the photo electric current increases / Wla_g{qﬂ YRT DI gl B[ EIGIE!

3. the kinetic energy of the photo electrons reduces / UPHIRIB Eraaﬁ}f:ﬁ BI TfaS SHolf HH EPI St %I
4. the kinetic energy of the photo electrons increases / UHIRIE 3@3@5@ DI i SHolt de SiG]] %I

Correct Answer :-

« the kinetic energy of the photo electrons increases / UPHIRIB sﬁaz:ﬁr CIRIGERST de S]] %I

5) Three bulbs of 40W, 200V; 60W, 200V; and 100W, 200V are used in a shop. Which one of them will have maximum
resistance? /

mmw‘“’w’ 200V; 60W, 200V; 31T 100W, 200V BT TIANT fHaT SITdT 21 38 & 59 U @71 siftrewaq
o GRIT?

1. All will have the same resistance / FH! & UfaRIe JAT _Ehﬁ
2. (100W, 200V) bulb only / Hdd (100W, 200V) Te&
3. (60W, 200V) bulb only / HAd (60W, 200V) Teq

4. (40W, 200V) bulb only / HAT (40W, 200V) Ted

Correct Answer :-

« (40W, 200V) bulb only / Had (40W, 200V) Ted

6) The graph which represents the variation of intensity of magnetic field ‘B’ with distance ‘r’ due to a long straight thin
wire carrying a current is: /

ATAG, Wi YRT YAIfed B aTdt dd W Uad IR & SROT G P AT YIS & B> B a1 3t fAsran gifan &:

w\.
7

LI
Fd




Correct Answer :-

7) The energy produced when 1kg of matter is completely converted into energy is: /

w9 1 foraumy uerd ot ave @ Swif # ufvafda #= fear sivar 8, ot Sanfea i gt 8:
1.9x10'%y

2.9x10717

3.3x1071%)

4.3x10'¢y

Correct Answer :-

e 9x10'0]

8) The escape velocity of an object projected from the surface of a given planet depends on: /
&3 T2 15 Y WaE A vaUd TP a¥g o1 yarH 3 59 W R sRar g

1. Direction of projection only / I Y& Hi fg=m

2. Both mass of object and that of planet / d¥J T4 Ue ?ﬁ:ﬁ & SAHH

3. Mass of object only/ Fad I hT gHHTT

4. Mass of planet only / &dd Ug DI SqH

Correct Answer :-

o Mass of planet only / A UG HT KH

9) The power of a pump which can pump 200 kg of water to a height of 200 m in 10s is (g =10 m/sz): /

T U0 3 ifa oY 109 F 200 531 o DY 200 N F SIS T T S TS & (¢ = 10 TA2):
1. 80 kW

2. 4kW

3. 800 kW

4. 40 kW

Correct Answer :-

e 40kW



10) The plates of a parallel plate air capacitor are separated by a distance ‘d’. It is fully charged and disconnected from the
charging battery. If the distance between the plates is now made ‘2d’, then: /

T UM We §aT HUTRT B @e «d’ gt gRT e 3t i} | a5 gt avg A mafra faran man oik anfifr seft @
ST P foar man| afg wiel & dta oY gt o 24’ FR E E, At

1. The energy density of the capacitor remains unchanged / TR BT Solt BT Safafdd g %I

2. The energy density of the capacitor increases / TR BT FHoll g de SITdl % |

3. The energy density of the capacitor decreases / TR BT Sl ITed Te ST B

4. The energy stored is decreased as capacitance has increased / Tufed Solf Epf S]] % Fife amar B T % |

Correct Answer :-

« The energy density of the capacitor remains unchanged / GHTR BT Sl Tcd Jqfeafdd xgd %I

11) The time period of a particle undergoing SHM is 8 seconds. It starts motion from the mean position. After 1 second, its
velocity is 1 m/s. The amplitude is: /

SHM 9 T[ORA aTd U1 $t JHY @it 8 Ahs 81 T8 Ared fRUMRY A 71fd I3= HRa1 8 11 Vs F 916, 3961 1 WA B
3TTH BN

1.1.5m/1.5H
2.12m/12#
3.14m/1.4¥

4.1.8m/1.8H

Correct Answer :-
« 1.8m/ 1.8

12) The frequency of oscillation of a simple pendulum suspended from the roof of a lift when the lift is allowed to fall freely
is: /

e ¥t o9 A Fdfyd te wRa dae 3t ataq ot smgfy a1 @ w9 firve W w0 A 1 et
1. Infinity / 3=d

2. Zero / [T
3.2Hz

4.1 Hz

Correct Answer :-

13) Laplace corrected Newton’s formula of velocity of sound because sound waves in air: /
AT A eI & eaf- & A7 & A I Fa! [ba1 Fifd gar | @i avdl:
1. Are propagated adiabatically / IGIW ¥ Y gaid Epl_cﬂ % |

2. Are transverse in nature / E@—ﬁl o HTURY [k
3. Propagate isothermally / THardt yafifa gt % |

4. Move with a low velocity / »H 7Y I B

Correct Answer :-



o Are propagated adiabatically / IS U I HaRd gidl B

14) Imagine that the usual vibration magnetometer experiment is conducted at one of the magnetic poles of earth without
the presence of any other external magnetic field. The period of oscillation is: /

U1 Bifog fos foredt off a8t ety & o1 SufAfa & fomr 7t & Jaaia yai d§ | T IR 9H= S
Yad Tt WART T ST 31 e wre g

1. Infinity / 3f=d
2. Zero / ][
3. Equal to double that of geostationary satellite / H\-@R 3Ude &3 1 7 h W

4. Equal to that of a geostationary satellite / "‘-‘L-@R JWIE & SRR

Correct Answer :-
« Infinity / 3d

15) If the Kkinetic energy of a body increases by 300%, then the percentage increase of linear momentum of the body is: /
Tfe e frera &Y nfas St 300% 9% 9818 w1t @, a) e & YR Tan Y ufasra gfs g

1. 300

2.50

3.200

4. 100

Correct Answer :-

« 100

16) If the temperature of the conductor and semiconductor is raised, then we observe: /

W g1 3N TS BT ATIHIH ST ST 8, ) 89 ¢’ @

1. Conductivity of both the semiconductor and conductor decreases / 3{ DEINCACINGINED ?ﬂ:h P! ATAH T gedt %I
2. Conductivity of both the semiconductor and conductor increases / 3{ T 3R ATAd gl B! aTerdal aa?ﬁ gl

3. Conductivity of semiconductor decreases and conductivity of the conductor increases / 3{ tfTd® P ATeTHdT gedt % 3R Ao
P ATl gga g

4. Conductivity of semiconductor increases and conductivity of the conductor decreases / 3{ efTeiep & ATadhdl aa‘cﬁ g 3R A
I AT ged 5

Correct Answer :-

« Conductivity of semiconductor increases and conductivity of the conductor decreases / 3f tFTA® Bt DT aa‘cﬁ % 3R TAH
! AT ged g

17) If the error in the measurement of radius of a sphere is 1%, then the error in the determination of volume of the sphere
will be: /

gfe farsdt Mae o1 Bsw & A A I 1% 8, @ Mae F smaa= & fHafor & g grh:
1. 2%
2. 4%

3.1%



4. 3%

Correct Answer :-
e 3%

18) If the refractive index of the medium with respect to air is 1.5, then the critical angle for the medium is: /

gfe ga1 & Hel A A1 BT SyadHi®, 1.5 § O AW & e wifae Hior ghm:

19) Under the same conditions of pressure and temperature, the RMS velocities of hydrogen molecules and oxygen
molecules are measured. The ratio of these velocities will be (assume ideal behaviour): /

19 3R ITqHTE F guT RUfl §, grggier s iR SifeRiier 3opeif & RMS A7 ATY &1 § 1 31 AT T SrguTd
TR (3™ SagR HIfY) :

1. 1:8
2. 1:4
3.4:1

4. 16:1

Correct Answer :-
o 4:1

20) When a dielectric slab having dielectric constant 2 is introduced in to the region between the plates of a parallel plate
capacitor having a capacitance ‘C’, then the new capacitance will be: /

W9 2 WRIAGadio aTell T URIdgAd Ug B ‘C’ UTRGT a1 TP FHIGR We VYT B @el & a1 & &7 | qarfase
o siran B, @ it enfar gRf:

1. C2
2.C

3.2C

| O

Correct Answer :-
¢« 2C

21) When same load is applied, extension of two wires is found to be the same. Their lengths are L and L, and their area of

cross-sections are A; and A,. The ratio of their Young’s modulus is: /



T HHH HR U fobar mam, df gt aRl & R 90 Ui | 3991 9154l Ly SR L, § SR 37d 30 HIC &
ATEA A, 3T A, T 1 3T T WP BT AJUTA B :

1L AL,/ AL,
2. ApLy /AL,
3. AL,/ AL,
4. AL,/ AL,
Correct Answer :-

i A2Ll /A1L2

22) When dipped in a liquid of refractive index 1.4, the resolving power of a microscope will: /
1.4 UTAIP & TP o § A U, TP YEHGRN B [qWG &Tam il

1. decrease / HH G

2. remain the same / JHIA Epf

3. be doubled / GRTT BI

4. increase / 9@

Correct Answer :-
o increase / 9g

23) A wheel making 40 revolutions per second is stopped in 40 seconds. The magnitude of angular retardation (assuming to
be uniform) is: /

ufa A 40 TRHUU HR W TH Ufed FY 40 bgH A NPT 1T 3 | HIVIY U (THIYH HFHR) BT IRUT0T gRT:

1
— rad/s?
1. 48

2. 4 mrad/s

3. @ rad/s?

&

2 mwrad/s

Correct Answer :-

24) A bus travelling the first one-third distance at a speed of 10 km/h, the next one-third at 30 km/h and the last one-third at
50 km/h. The average speed of bus is: /

TP 99 UYH Th-faers g 10 el g 3t ara W, 3rTel vep-fagrs 30 fi/ger wr 3R sifow we-faers so feei/ger
TR TG $dl 81 ST Bt Gk

1. 20 kmv/h / 20 fopH/Eer
2. 17 km/h / 17 Topdi/der
3. 18 km/h / 18 fopHi/EieT

4.19.57 km/h / 19.57 fowii/ger



Correct Answer :-

o 19.57 km/h / 19.57 fopHi/der

25) A particle of charge 2C enters the magnetic field of 2T with a velocity of Sm/s along the direction of the magnetic field.
The force acting on the charged particle is: /

2 C SATART H1 TH BT, YIP I @A P R A s A F TV 2 T Ja1a &7 W Y a1 8 | ARG FUr W
maﬁéz

1. 10N
2. 20N
3. 0N

4. 40N

Correct Answer :-

26) Four identical point charges Q each are placed at the vertices of a square of side ‘7°. The net electric field intensity at the
center of the square is: /

T Q T IR A g Yo ¢’ & TH I & Myl W 7@ A 7 | ¥ & Fgg R Faa fagaa &7 o1 diaar &:

1. Zero / [

1
(47[%)

2 Q 242

60"
(4mey1?)
4. ‘

Correct Answer :-

27) A composite colour which consists of red, yellow, green and blue is sent through a glass prism, the emerging colour seen
at the base of the prism is: /

Tw g W ol ara, 119, &R ok ia w1 AR €, &) ve oig & ey & arega & S wirar 8, e & smurR W
IURAT T BT AT E:

1. Yellow / YTalT
2. Green / B
3. Blue / F1d

4. Red / dTd

Correct Answer :-

« Blue/AId

28) A constant torque of 20Nm produces 5 rotations on a body of mass 10 kg. The work done on the body is: /



20 Nm T T fRR %371 @3da®), 10 f5u1 soq9= & U fFera wR 5 gula 3ad svar 8 | e W fear mn ot §:
1. 400mJ
5 200m T
3 50m]
4, 100w T

Correct Answer :-

o 200m T

29) Two rotating identical fans have their angular momentum in the ratio 1:4. The Kkinetic energy of rotation of them will be
in the ratio: /

& off yramr vEl & HIofka WA 1:4 & Srurd § ¥ 1 3% Ui Y i St 59 rgura # ghh:
1. 1:4
2.1:16
3.1:2

4. 4:1

Correct Answer :-
o 1:16

30) Two charges +10C and -10C are placed at 20 cm apart. The potential at the center of the line joining two charges is: /
1 3T +10C 3R -10C, 20 T FT g TR T T | S TN Bt SIS I8 W F Hg W fAua 2:

1.2V

2. Zero / ][I

3.-10V

4.10V

Correct Answer :-

31) Which of the following is NOT a unit of self-inductance? /
et § @ o @ @ Rea P 3o TE 82

1. Henry

2. Als

3. Webs/C

4. Web/A

Correct Answer :-

o Als

32) Which of the following is a dimensionless quantity? /



FrafaRea 4 3 o= @ faag ik g
1. Stress / Ufded
2. Torque / W(‘jam

3. Strain / dq1d
4. Energy /

Correct Answer :-

e Strain / dd1d

33) Which one of the following statements is correct in the case of step up transformer? /
T A TFABTHR & R 8 fAEfif@a A A s ar sy ad@ 82
1. In a step up transformer, the output voltage is less than the input voltage. /
e Il TRIBTR , ff dieedr, STd dieear § HH Bt B
2. In a step up transformer, the output voltage is greater than the input voltage. /
s Il TRIBTR H, ff dicedr, smTd dieear § oifde gt 8|
3. In a step up transformer, the output power is greater than the input power. /
e I gIenR H, fef e, s iy & siftres gt 21

4. In a step up transformer, the output current is greater than the input current. /

T Il TR H, fRTH 4R, SmTd 4Ry & 31fies it 81

Correct Answer :-

» In a step up transformer, the output voltage is greater than the input voltage. /

TS Il TRIBTR H, ff dieedr, ST dieear § oifdew gt 21

34) Which electromagnetic wave has the wavelength range 0.01 to 10 nanometers? /
fu fagaa gt a3 8 a1 dof IR 0.01 9 10 AR 82

1. Gamma rays / 7THI fopvof

2. X-rays/ TR

3. UV rays / UV a0l

4. Infra red rays / 3{dXdd fop=ot

Correct Answer :-

e X-rays/ Qaﬂ-%

35) At what height above the earth’s surface, the acceleration due to gravity decreases by one percent (given, radius of earth
=6400 km)? /

q@m%wmﬁhﬁnw&w%wwwmwwm%@mw%qzzﬂa%ﬁw=
6400 ?

1. 16 km / 16 foat
2. 80 km / 80 fopeit

3.32 km /32 fopt



4. 640 km / 640 TopHT

Correct Answer :-

e 32km/ 32 fHet

36) To get a virtual, erect and enlarged image of a given object, we have to place the object in between the: /

et &t 715 avg 1 smuTedl, e ik wRaftfa wfafds wra $3 & forg, sH axg &t & dia H @ g
1. F and 2F of a concave lens / Uch IAA AT & F ﬁ?ZF%Eﬁﬁﬁ

2. F and 2F of a convex lens /WW@F\‘T%F 3R 2F

3. principal focus and the optic centre of a concave lens / Tdh 3{ddc] Rk qHeq BIHY 3R gy 7

4. principal focus and the optic centre of a convex lens / Th Jadd KD H o[ g 3R Iy {H

Correct Answer :-
« principal focus and the optic centre of a convex lens / Tdh JcIcl T qJe0 BIHY 3R gy 7Y

37) As the angular frequency of the alternating current source is doubled, the resistance offered by the inductor in that
circuit will: /

W9 YaTad! YRT Hid Bt BYofta gy SR 1 Wit 2, at 39 ufvuy & tRes gy fan mar uferie:
1. be doubled / ST 81 ST
2. become 4 times of the original value / Wﬁwnﬂm4wﬁﬁaﬁm

become % times the original value / GREdTde HI &I % AT SR
3. : .

become % of the original value / areardd =T & % HIRGIEL
4, 2 2

Correct Answer :-

« be doubled / QT BT SIRITT

38) A proton and an alpha particle are projected with the same velocity at right angles to a uniform magnetic field. The
correct statement regarding the motion of two particles is: /

TS WelH 3R TAPT U THHA Ga 1T & A TH B W A T S iy WHa fFawa g1 A sl S afa &

1. Radii of the circular paths for both the particles are same / Eﬁ:h BN & 1%112 W T} B ﬁ\_YCITQ HHHT %I
2. Proton moves in a circular path of greater radius / 3% B & U QT'ﬁ'q gy H gieH &l de-Tl

3. Proton moves in a circular path of smaller radius / BRI 'G2) QEﬂ'q Ty H Uied &l deHrl

4. Both particles will move in a straight line / I U1 T el @1 H S aaﬁ

Correct Answer :-

» Proton moves in a circular path of smaller radius / BIERIE 'C2) W Ty H Ui &1 el

39) Ina p-n junction diode, the depletion region is S00nm and the electric field present is 6 x 105 V/m. The potential barrier
developed is: /

T® p-n Y STITS B 3T &7 500nm & 3R IUFRT fagadq &7 6 x 10° vim 31 i Ra fAya uriR &:



1. 0.3V
2.7V
3.3V

4.0.7V

Correct Answer :-

e 03V

40) A car moves along a straight road whose equation of motion is given by s= 12t + 3t2 — 263 where‘s’ is in meters and‘t’ in
seconds. The velocity of the car at the start will be: /

TP PR TP Aieht TS W Tl @ Tt wfa &1 T fiewor, = 12t + 3¢2 - 263 gRT e T @ &gt fex AR 3R ¢
APs A 81 YoM & R BT AT gHI:

1.9m/s/9HA
2. 7m/s /7 HA
3. 16m/s/ 16 HIA

4. 12 m/s /12 HIA

Correct Answer :-

e 12m/s/ 12 HA

41) The temperature of inversion is #;, neutral temperature is 8, and temperature of cold junction is & Then
variation of thermo emfwith temperature in a thermocouple arerelated by the equation: |

afe AT A9 6; I a6, 3T Hdcd WIS quATE o8| ol d-dedd o #
dATIAT & T Al SUATEH & fidd, 58 THE0T ga]T Jafd &

(6i+60) _
1. 2

n
By —8;=28,
Eh- 5 3.;] F Bn

8;-0,=260,

Correct Answer :-

42) The current through the galvanometer in the given circuit is: /

fow v gfigy & dicadey & Aead O A &

av

[
I r=2Q
80 :

oL




43) 10 gice at0°is converted to steam at 100° C. The quantity of heat required is:
LH of fusion ofice=380cal/g
LH of vaporization of water=340 cal/g/

0° 9 10T &% 100°C 9 19 # ufafdd & It &1 3maeas Fwar 1 Awr &
@b & Harelt I AT A= 80 A/
Uil & arege] i A[cd FSAT= 540 el

1. 7200cal
2. 5360 cal
3. 100 cal

4. 800 cal

Correct Answer :-

e 7200cal

44) A particle is projected at 60° to the horizontal with a kinetic energy ‘K. The kinetic energy at the highest pointis: /

Us U1 H1 K AT Fott & |y alfas & 60 W waifid o 3 seaaw fdg w afast =1 &

1. Zero / YA
2.K

|

Correct Answer :-



th
A radioactive substance decays to % ofits initial activity in 40 days. The halflife of the radioactive

-

substanceis:/

4owﬁwﬁmﬁwmmmmﬁ%¢;mmamm
YsAaha g $ 3 A &

1. 4 days /4 faq
2. 16 days / 16 T
3.32 days /32 f&A

4. 8 days /8 a7

Correct Answer :-

« 8days/8fad

46) Two bodies of equal massesrevolvein circular orbits of radii R; and R, with the same period. The ratio of their cenmipetal

F
forces: —+=
E

& R R A wAE 3ad (NEs) afd Ry 3R R, BBl & g @i & dRgaorata

1 3 s Aot 1 e D=

R,
R
1.

:;d|‘r:j
N

R,

|
\R,
Ry

4. -

Correct Answer :-

47) A wrain moves towards a stationary observer with speed 51 m/s. The train sounds a whistle andits
frequency registered by the observer is f;. If the train’s speedis reduced to 34 m/s, the frequency

registered is f;. If the speed of sound is 340m/s, then ratio of f—lls:.

wmﬁilﬁmﬁwﬁwﬁmmﬁmﬁh IS § "ier 1 eafa #7rdr
& 3N SeTe g@RT Usiichd Sl Hidlcd £ §1 AfG Yer@mst &1 9rer 34 HIA dd & &Y 4T

STl &, o sfidhd Adice £ &1 afe =afer &1 arer 340 /IR &, i—la?raﬁwﬁt

1.2.16

2.1.06

3.2.06



4. 0.06

Correct Answer :-

e 1.06

48) In a process it is found that Au =-Aw. It could be: /
U UihAT # 95 IR AT § & Au=-Aw| TG B Hehdl &

1. Tsothermal process / THATY! UfehaT

2. Isobaric process / gHETS ufshan

3. Isochoric process / TH-ATIA S UfchaT
4. Adiabatic process / FRRTSH Ufgrar

Correct Answer :-

e Adiabatic process / R ufdar

In the given circuit, the cells E; (20 V) and E; (4 V) have negotiable internal resistance. If the galvanometer *G”
shows zero deflection, then the resistance “R” in the circuitis:/

few a1v aRwer #,FeTE, (20 V) 3R E, (¢ V)H WEwg IdRE 9ioRke ¢ I Aed=ier ¢ o
faaTo few@rar & arafiyayr & ofawer r° &

| 32Q : |
20V
'|‘ El R ET 4V

50)

Abox of mass 10 kgis placed on a rough indlined plane of inclination 30°. The box slides down with an acceleration 2.5 m/s%.
Whatis the coefficient of friction between the box and the inclined plane (take g = 10 m/s?)7 /

10 foalm Geadlil & a9 @1 30° S & Ueh ®&1 ATAd SHdel U 11 SATdT bl @], 2.5 #I&° & caror 4 ==
Traedr &1 997 3R 3 T9de & 99 9907 076 o B (A el g=10m/s)

1. 2‘\-"5

5 |
=
%]



Topic:- Chemistry

1) The ability of fluorine to stabilize the highest oxidation state as in the case of crV'is due to whereas for oxygen it is
due to .

oV 3 FRUfT F v 3t STy SITRIBRUT AT BT RITAHd H BT grgar F PRI 8, TafP
SffeRfier ¥ gg A & PRUTEIA B

1. formation of multiple bond; higher bond enthalpy / §g 3TEY &1 AT ; IdH Y U;UTG;N:IT
2. higher reducing power; higher oxidizing power / 3TddH U D &HAT ; S=dH STRITHRUT &HT
3. higher bond enthalpy; formation of multiple bond / 3=dH G{TETHIIUTEN:IT ; dg ey T fAmfor

4. higher ionizing power; higher lattice energy / 3=dH SMTIABRT &HT ; 3 dH Il Sl

Correct Answer :-

« higher bond enthalpy; formation of multiple bond / 3= dH &HETHU;UTW ;g ey T fAmfor

2) In addition mechanism, cationic polymerization takes place in the presence of: /
Rad= fparfafy &, emrai agee sue! Sty A afea gar -

1. Metal / ¥TJ

2. Acid / 3f&T

3. Light / UPTRT

4. Base / &R

Correct Answer :-
e Acid / 3*1

3) The organic compound which can be produced by fermentation of sugar and is a constituent of beer is: /

SIS 3aq St I & fPvaa gRT Scurfed fear o wodr ¢ Td 918 1 Ta ueo o:
1. Ethanol / YA

2. Ethanoic acid / SAIS® 3

3. Chloromethane / FARITAYT

4. Methanol / fHRATa

Correct Answer :-

¢ Ethanol /‘a'?kﬁ?r

4) The element which is an essential constituent of all organic compounds belongs to: /

g8 dcd o Jft wrdfAe Giftrel & fore uep sifvard Tees 8, 599 Tdftd @:



1. Group 14/ {¥g 14
2. Group 16 / 9¥g 16
3. Group 8/ THg 8

4. Group 4 / 9Hg 4
Correct Answer :-

» Group 14/ 9¥Hg 14

5) Orlon is a substitute for: /
ARAHE __ F fore ve fawew (Fsudieye) B
1. Wool / 35

2. Silk / XRH
3. Cotton /ﬁ\?ﬁ

4. Rubber /&S

Correct Answer :-

¢ Wool / 5

6) 18 g of glucose is dissolved in 1 kg of water in a saucepan. At what temperature will water boil at 1.013 bar?
(Kp, for water is 0.52 K kg mol-1) /

T AU | 1 frat ora & 18 UM Tqqehit et T | fF aTauT IR 9 1.013 IR IR ITA?
(oTet & I k,, = 0.52 B o amwamg-1 31)

1. 0.052 K / 0.052 dfed

2.273.2K/273.2 Hfcad

3.373.2K/373.2 Pfcad

4.105.2 K/ 105.2 e

Correct Answer :-

. 373.2K/373.2 Pfca

7) Which pair of atomic number represents elements in the same group? /
URHTY] AT HT B T i, dedl BT FAReq0r o T § HaT1 82
1. 12,20

2.11,18

3.9,15

4.6,12

Correct Answer :-

e 12,20

8) Gold number is minimum in case of: /



w@uife 3Hd daH § gaq giaT 8:
1. Starch / @
2. Gum arabic / T 3RfIH

3. Albumin /Q@'&F{
4. Gelatin / fTaifes

Correct Answer :-

« Gelatin / forafes

9) If magnesium sulphate is 50 percent ionised in a solution, then the van’t Hoff factor is: /
afe Ffizraw aetbe, Ue faeae A so ufasra smafa gar § o af< 316 baex &:
1.15

2.5.6

3.1.6

4.3.5

Correct Answer :-

10) Carbyl amines on acid hydrolysis give ______whereas on catalytic reduction give ./

PTEgd THTIST BT 3T SId-3THSH HI9 W TS BIdT 8, STafh SARD! 3Y=d— B34 W) T giar gl
1. primary amines, secondary amines /mm@:ﬂ%:f : Ww

2. primary amines, tertiary amines /WWW : W@Tﬁﬁ

3. secondary amines, primary amines /W@Tﬁ;{ : UTWQ’QT'{;[

4. tertiary amines, secondary amines /WW : m@ﬁ:{

Correct Answer :-

» primary amines, secondary amines /QTWQTIE:T : Ww

11) The sulphide ore among the following ores is: /
Frafafad sl & erTss o ©:

1. Copper glance / dT¥ 7T

2. Haematite /%w

3. Bauxite /EIT?EHEE'

4. Pyrolusite /aﬂw

Correct Answer :-

e Copper glance / d¥g A9

12) Pyrolusite when fused with K,CO; in presence of air gives a green mass ‘A’. When Cl, is passed into the solution of A,

another colored product B is obtained. A and B are: /



g P IufRAFA H k,c0, F TTY 79 UTAFATZE B WA fPaTAar g A ag R IT P AfA A AT B I ST, BT A S
faerg= A uriva forar wiTan 8, o v o Tfi9 IuTe B U Bl 81 A 3R B &

1. Mn02 & Mn207
2. KMnO4 & Mn203
3. KzMnO4 & KMnO4

4. K;MnOH & Mn30,

Correct Answer :-

. KzMnO4 & KMnO4

13) Identify the product formed when U-238 undergoes alpha decay. /

33 fAftfa It 3t ugare IR 51T u-238, ST &7 A BB ToRAT B
Pa
1_ a1

235

U
2. =2

234

Th
3, %

4722

14) Which one of the following statements is INCORRECT about lanthanoids? /

98 B T ol AATES & fvg F v A @

1. Most of the elements in +3 state are diamagnetic / +3 a1 qTdl Wﬁﬁﬂﬁwaﬁ%l

2. La (OH)3 is most basic / La (OH)3 Ty 3ifw &ﬂmm%l

3. +4 state is not a common oxidation state of the elements / Il & +4 ST Uh HqTHTY 3Tt G{W:ﬁﬁ%l
4. Lanthanoid ions having empty f orbitals are colorless /R f$&rra1€f%7a=ns€ ST T"Iﬁ:ffﬂﬁal

Correct Answer :-

* Most of the elements in +3 state are diamagnetic / +3 ST ITd WWW@%%I

15) Which of the following will give CO, on treatment with dilute acid? /
fFraferfEa % & $19 ag s & |1y IU=TRd 819 W co, a1 82

1. Plaster of paris / WIRCX 3 oy

2. Quick lime /Wﬁﬂfﬂ

3. Gypsum ) oy



4. Siderite / RIS 3C

Correct Answer :-

o Siderite / RTSX <C

16) Which of the following is a synthetic indicator? /
fFrafafae & @ o9 a1 wivdfte gas 32

1. Red litmus solution / TTd farew Y faa

2. Turmeric /B?pr

3. Phenolphthalein IR IGEDINE]

4. Blue litmus solution / =fia ferenw fao

Correct Answer :-

» Phenolphthalein A I IGLDINE]

17) Which of the following is a non-terminal functional group? /

fFrafafaa & @ 919 31 ve sHfaw vl (AF-fifFa warra) w9g 82
1. Aldehyde R RSHES

2. Carboxyl | pralfRTd

3. Alcohol / TehIgTd
4, Ketone /&ﬂ'cﬁ:r

Correct Answer :-

« Ketone /Bl

18) Which of the following is the most electronegative element? /
Frafafea & @ o= 9% e wufagad o 32

1. F

2.N

3.

4.0

Correct Answer :-

19) A white precipitate is formed when dilute sulphuric acid is added to .

S 9] SRR 3T Bl & 1Y e SiraT § 99 TP ibg g &y &1 fAmfor gar 21
1. MgSO, solution / MgS0O, faca

2. NaCl solution / Nacl faeid

3. KCl solution / KcI faeig

4. BaCl, solution / BaCl, faad



Correct Answer :-

« BaCl, solution / BaCl, fao

20) The ionization enthalpy of Li is 520kJ/ mol. What would be the amount of energy required to convert 700mg of Li atoms

in the gaseous state into Lit? (atomic mass of Li=7 amu) /

Li T ST quitsq s20fatera/ wie 81 Tt srawm & 700f¥reiumy Li ramopsh o1 Lit § ufvafda #w1 & forg
SIS Sl Dt AT T ERIT? (Li BT IRHTY] FSTHT= 7 amu)

1. 0.52kJ
2.74Kk]
3.52Kk]

4. 52kJ

Correct Answer :-
o 52kJ

21) The relative stability of the four acid derivatives towards nucleophiles is: /

AR BT SR AR 3T FeuTel Ft ATHe fRRAT A TPR &:

1. Amide > acid anhydride > ester > acid chloride / THISS >Kﬁ|’s’ UL QIS > UKR >1;fﬁl—5' FIRIZS
2. Amide > acid chloride > ester > acid anhydride / THISS > Eﬁl@'{m > TN > Qﬁl@'tﬂ%ﬁgﬁ_&'{
3. Amide > ester > acid anhydride > acid chloride / THIES > U¥X >@3Q:|313$133 >Q@|€a?h?|33
4. Amide < ester < acid anhydride < acid chloride / THISS < TR < Qﬁl‘s’ EHESIES] <E@I€' HIRIgS

Correct Answer :-

e Amide > ester > acid anhydride > acid chloride / THIZS > T > T TS EHESIES] >Eﬁ|€ FIRIZS

22) The coordination number in a crystal of copper is: /
i F forvea & HHG9 G©T 8:

1.6

2.8

3.4

4.12

Correct Answer :-

23) The electronic configuration of 2 elements X and Y are given below. Which is the correct representation of the stable
form of Y and its compound with X?

X = [He] 2s%2p%, Y = [Kr] 5s%4d'%5p% /
2 dcdl X Td Y & aaei-e fa-ara - fig e €1 v vd 399 diffie &1 X & 914 fRIR ¥ &1 98} fAeuur s 91 82
X = [He] 25%2p%, Y = [Kr] 55%4d!'5p®

1Y, YX4



2.Y, YX;
3.Y, YX
4.Y; YX;3
Correct Answer :-

. Y, YXq

24) The reaction used in the volumetric estimation of ozone is: /

ST Y AT e W wga srfuforar 2

1, PEEAO e = PbSO,+0;
5 KI+03+H0 - 12+ 0; +KOH
3 Hgs"'oi _____ +OE+HEO+S
4, HCl+ 05— 0+ H;0+ Cl;

Correct Answer :-

Kl + O;5 + H,0 - 2 I+ 0, +KOH

25) The possible monochloro structural isomers expected to be formed on free radical monochlorination of
(CH3),CHCH,CHyj is: /

TUTfIT TR FREATES UG & (CHy),CHCH,CH; % ¥add ga AHigaiazq wR A 8 & dumaan 2:
1.6
2.5

3.4

4.12

Correct Answer :-

lst

26) According to Aufbau principle, the 21°" electron in an atom would occupy which one of the following orbitals? /

a3 Rigia ¥ R, T WA & 217 5T S&® & B |1 I T80 FRM?
1.3p
2.4p
3.3d

4. 4s

Correct Answer :-

27) Gases do not obey the ideal gas law below a certain temperature. What is that temperature known as? /

T T Frad argaE & AR et 19 fFrad &1 ure 981 Sl @ | 98 dIUHE T $edrdl 8?2



1. Inversion temperature / SeshHUT 1Y
2. Boyle temperature / Siga ag

3. Critical temperature / pifde amg

4. Reduced temperature / T a9

Correct Answer :-

» Boyle temperature / CIREIE

28) Amylopectin is one of the components of starch where branching of the linear polymer occurs between: /
THTSAIfge, T id & Waed! A | UP il & W6l WP 9ga® (AT3-R UTeHR) BT ARG 3% o419 °fed giar 8:

1, Czand Cs/ CUd g

Ztymdgfqﬁﬁq

3 Cl and Cg .I'l Clt'a-—(:_q

4 Ceand Co/ cUdc,

Correct Answer :-

C,and G/ C,Td Cg

29) A nitrogen containing organic compound (X) can be reduced to aldehyde. Also when treated with phenyl magnesium
bromide and further hydrolysed, it gives ketone of molecular formula CoH;(O. Compound X can be represented by the

formula ./

TS AT3e o gad ST e (X) B tiesgrgs # srufa far o aear 81 39 srarar bfae By siugs &
1Y YA TH 3R TA-Sqafed B W, TG 0TS G CoH,,0 BT BISH T 8 | NP X B 7 ERT
frefa frar s awar 81

1. CgHyN
2. CgHyoN
3. C3HgN

4. CgHgN

Correct Answer :-

30) What is the transformation occurring around boron atom in BF3 when it forms bonds with NH;? /
BF3 & IRT7T URHTY & STHUTH g1 Il TX9-URad= 1 § 99 98 NH, & A1y T T1aT 82

1. The hybridization of B remains the same as in BF. / B T HhRUl BF, B aRE JHH @1 8|

2. The hybridization of B changes from sp? to sp°. / B T HHT sp? q sp> o ggadm %I

3. An ionic bond is formed between BF; and NHj3. / BF; 3R NH; & ST SATTAT STy & %I

4. B atom retains the sextet electronic configuration in its valence shell. / B UIHIU] ¥ ﬁm o= & 3rga Hur e A
G gl

Correct Answer :-



o The hybridization of B changes from sp2 to sp3. / B &1 BT sp? q sp> o ggadr %I

31) What is the partial positive charge on H atom in HCI molecule if its dipole moment is 1.03D and H—CI bond distance is
127 pm? (1D =3.336 x 103 Cm) /

HCL 3] # H WRHTY] R fHaa 3iifRre 4= 3= €, afe 391 fg8d 3myul 1.03D Td H—C1 BT MY STATH 127 pm 82 (
1D =3.336x 103" Cm)

1.2.0x 107 Coulomb / 2.0 x 107!° HalHg
2.0.0271 x 1072° Coulomb / 0.0271 x 10720 Haig
3.2.71 x 10720 Coulomb / 2.71 x 10720 HaH
4.2.71 x 107'8 Coulomb / 2.71 x 107'8 Harg
Correct Answer :-

« 2.71x 1072 Coulomb / 2.71 x 10720 HarHg

32) How many moles of electrons are required to produce 135 gm of Al from molten alumina? /

T TR W/ 135 UTH Al BT ST B & T Al & fhan ITH3Av[s #Y sraxgswdr gidl 872
1. 15 moles / 15 UTH3AT]

2. 5 moles/ 5 UTH3Y]

3. 10 moles / 10 ATHSA]

4. 20 moles / 20 UTH3AY]

Correct Answer :-

15 moles / 15 UTHS(T]

33) B-Helix, pleated structure of protein is stabilized by v
WA B Healford |@eaT, § gferea F gRT RITIFd g 3|
1. Disulphide bond / STEURIZS TS

2. Hydrogen bond /3—5@‘—’[:[ 3§Y
3. Hydrophobic interactions / SI¢] aRAT St

4. Electrostatic interaction / TR 3@21?{ A=t

Correct Answer :-

e Hydrogenbond /% 33; o 3TEY

34) In a first order reaction, the time required for completion of 99.9% is ___of half-life of the reaction. /
YT W (BT 3iTsv) fUfpar §, 99.99, qul a1 & fre smazas aw, sfufrm St srgemgsr 21
1. 2 times /2 T[T

2. 9.9 times /9.9 [l

3. 5times /5 I[AT

4. 10 times / 10 T[T



Correct Answer :-
e 10times/ 10 7T

35) 47g of a solute (M.M=94 amu) dissolved in 1000g of a solvent (K;= 14) leads to dimersation of the solute and lowering of
freezing point of the solution by 3.5K. What is the van’t Hoff factor for the solution? /

47 99 AT (M.M=94 amu) B} 1000 UTH F TH fAaRI® (K, = 14) ¥ faafa w31 wR fady &1 fgag=r gy wmar 8, v
faergm ¥ fRwie fag # 3.5k &Y w1t 81 97t B | farear & forg are 816 dRe | 82

1.0.375
2.0.75
3.01
4. 0.5

Correct Answer :-

« 05

36) Below 673K carbon monoxide is a better reducing agent than carbon because: /
673K & 1, FTa9 ANSITRITgS, T & a1 W IgaR YIS FRS g T b:
1. CO cannot be easily oxidized to CO, / CO WAard co, o Gﬁﬁﬁ:‘—eﬁ@w%l

2. CO can be easily oxidized to CO, / CO WA co, o Hmﬁ B AHA g

3. Carbon can be easily oxidized to CO, / TS TRAdT Co, o &r‘l'a%ﬁqm FERCEIE

4. Carbon can be easily oxidized to CO / BT TRAAT Y co | 3173@% BREXIE]

Correct Answer :-

 CO can be easily oxidized to CO, / CO WA co, ) HWW RGN

37) An atom of oxygen has Z=8 and A=16. If its binding energy is 128 MeV, then what is the binding energy per nucleon ? /
SHTRIST & TH WY | 2-8 Td A=16 & | TS ITB! S8 ol 128 MeV &, A Ul fFaaiiv de ol |82

1. 10 MeV

2. 16 MeV

3.8 MeV

4. 12.8 MeV

Correct Answer :-

e 8§ MeV

38) Which of the following particles will not be deflected when subjected to an external magnetic field? /

I a1 &7 & A g R Fufifaa on & & o9 w1 o faafia =8 g
1. Positron / TSI

2. Deutron / S

3. Photon / BICIH

4. Proton / ACH



Correct Answer :-

« Photon / BIeH

39) Which of the following structural changes will not be reflected by the Van’t Hoff factor of a dissolved solute? /
frafafea & 9§ 19 |1 @aares uRadd, T [Talia fada & ar< 316 SRS gR1 Wiafdd 781 gim?

1. lonisation / 3T

2. Association / J&E

3. Isomerisation / JHIGYA

4. Micellization / fERIGT@ROT

Correct Answer :-

e Isomerisation / JHIGYd

40) Which of the following is used by the eye-surgeons to remove cataract from the eyes of patients, with a very high degree
of precision? /

TRl @1 & Bife & A1y, AR B sl | Hifcrarfag o gr H= & forg A7 o= g1 Fafafea 3 9 feaer
AT fomaT STen 82

1. Sharp edged steel blade /A YR a1 K &I
2. Sharp edged silver blade / GERREINIEIMEIES
3. Sharp edged gold blade / S YR a7 O BT IS

4. Sharp edged diamond / oS YR aran BRI

Correct Answer :-

e Sharp edged diamond / ST YR T éﬁT

41) Which of the following is an example of neutral oxide? /

Tt & | 1 |1 IS SHTTSS BT TP IATEX 82
1. NO,

2. CO,

3.N,0

4. S0,

Correct Answer :-

. Nzo

42) Which substance helps in determining the endpoint in titrations using adsorption indicators? /

TRr=NUr Ga® P ITUNT B §T AT § FaTe foig Frefiva 37 & 1 a1 vard Ao swar @2
1. Silver chloride precipitate / RITaR FARTSS & AT

2. Solid carbon dioxide / 319 HIETSIS TS

3. Barium hydroxide solution / ST SIS IaNTSS faea

4. Gelatin / fTacH



Correct Answer :-

« Silver chloride precipitate / RicaR FARTSS & 398y

43) Select the appropriate property which is true for all group I elements of the periodic table. /

IugEd Tt &1 79 H 9l srad aroft & Jf wgg 1 & e ww B

1. When heated in excess of air they form peroxides / SARNH 891 H TRH B R d WRATFZS T %I

2. They react with dry dihydrogen to form hydrides / 9 HESIES] FIH & forg {@ S'IEE'IE@W & Y AR B

3. Their nitrates decompose on heating to nitrites and O, / 3® AIR¢< TRH HI WR AIREIRC 3R 0, | mm%l

4. With the exception of lithium, the other group I elements impart colour to the flame, during flame test /

ferfiem & sruaTe & WY, SATan TeT & SR, 3 TUE [ I Al Bl T UG R 3|

Correct Answer :-

o They react with dry dihydrogen to form hydrides / 3 HESIES] T & fog E@ SIER 3_@; S & 1Y AT R B

44) Which of the following statements are true for cathode rays?

(i) Affect photographic plate

(ii) Penetrate through thin metallic sheet

(iii} Do not ionize gases through which thev pass

(iv} Raise the temperamre of the object on which they fall

| ARl & ol FrAfeli@a # ¥ &ia a1 99 59 &7
(i) BIRTEANhE e &1 gTiad &lar &

(ii) TTell ffcas IieY & ATEIH W Ol b

(iii) 3«1 AGT & HAATAT F6T HAT FTT & Tl B

(iv) 39 a¥ &I YA Feldl & 9| 9 a5 [@ERdr &l

1. (ii), (iii) and (iv) / (ii), (iii) 3R (iv)
2. (i), (iii) and (iv) / (i), (iii) 3R (iv)
3. (i), (ii) and (i) / (i), (ii) 3R (i)
4. (i), (ii) and (iv) / (i), (i) 3R (iv)
Correct Answer :-

« (i), (ii) and (iv) / (i), (ii) 3R (iv)

45) Given belowis a plot of TK vs. V (ml) of an ideal gas at pressures P1, Py, P, and P;. Which one of the
options shows the comrect order of pressure? /

# TK 9% @ P, . P, P., P, W U A 9 &1 V([@Eeieie) & fow 3o (TK 3%
VvOfear T §) FFati@d & & &iF o &7 960 BF Yoidid Hidm 87

5 op
hi
vimi) |, /'ﬂl

1.Py< Py< Py< P,

2. P4< P2:P1< P3



3.P4> Py > P> Py
4. Py< P3< P,< Py
Correct Answer :-

L4 P4> P3 > P2> Pl

The enthalpy changes for the reduction of Fe,Os;; and FeOy, using CO to give Fey, are —26.8 kl/mol
and —16.5 kJ'mole respectively. What is the enthalpy change for thereduction of FeiOsy) to FeOy, using

COyg as the reducing agent? /
Fe, 9GT= &1 & TAIT CO &1 ST FT §U FesOx) Ud FeOy,y & Tada & ToIw qut 30

qRad, 26.8 febel ISl A#A3TY], Td —16.5 fohello[eraAT] §1 399 & T 7 COy &I ITTar
FT §U FeyOy) W FeOy) & HUTA & folU quT AT 1 YRac &1 gleam?

1. +10.5 kJ / +10.5 fopraiierat
2. -6.2 kI /-6.2 fordiie@
3.-45.5 kI / -45.5 foraiio@
4.+6.2 kI / +6.2 fpao@

Correct Answer :-

.« +6.2kI/+6.2 fordie@

47) N, gasisprepared in the lab and collected in a gas jar by the downward displacement of water. If the
water level in the gas jaris the same as the waterlevel in the trough and the atmospheric pressure is 740
mm of Hg at 23°C, then what is the partial pressure of N,7

(aqueous tension at 23°Cis 15 mmofHg) /

N, 3 wEiRmer # AT i S AR S & st feeame ganr e SR # SeEa
&1 I 81 A AT IR F T F TR T F T TH & FAG & AN aHsa g 23°C
9 740 mm Hg & o7 N, & 319& gl &1 &7

(23°C T a™Y &I 15 mm Hg 81)

1.7.25 cm /7.25 4t
2.72.5cm/ 72.5 A
3.7.55cm/ 7.55 QA

4.75.5cm/75.5 9H

Correct Answer :-
e 72.5cm/72.5 T4t

48) For areacﬁnnEA-'—? — 4B, the rate law is given as:
Rate =k [A]_: [B]E_ From this data we can determine: /
S:Iﬁ-'@ﬂ]TA—Bl—PA;B & foiv, &¥ f&9H 59 9 fear o &
et =k[A]:5 [B]? %1 5w 3w ¥ 7 ¥ Fuia & a@&a &

1. Order of the reaction / 3{TNfehaT &1 HH

2. Mechanism of the reaction / 3fHfshaT &1 foparfafa

3. Average rate of the reaction / Sfferar &1 ma



4. Molecularity of the reaction / 3iTifohaT &1 SURH-HT

Correct Answer :-

« Order of the reaction / 3T &1 HH

49) The rate constant of the reaction KClO; + 6FeS0. + 3H;S0: — KCl + 3Fes(S0:k +3H,0 is 3x107 1 mol! secl.
This reaction is of: /
HATATHAT KC10; + 6FeS0; + 3H,80; — KC1 +3Fex(50s): +3H,0 & FBRiE &X 3x10% 1mol!sec 1 I
FidfRar Hea 7 &

1. Second order /WW

2. Zero order / ][I v H

3. Tenth order / G9d Y

4. Third order / TR HH

Correct Answer :-

e Second order / §FI§ hH

50) The conversion of ozoneto oxyvgen has the given elementary steps.
(o] —— 0, +0 ... (1) FASTREACTION
O +0 — 20, . (2) SLOW REACTION

Pick out the correct statement from the following: /
St 3 el 1 TR 5 I T SR
0: — 0, +0 ._.(1)dg AR

0: +0 — 20, .. .(2)#Fc @G

FAteli@d & & Tal d2d & T4 B

1. The rate determining step is a bimolecular reaction /R FuRe Uq, W%—W &rﬁ-m%I
2. The molecularity of the rate determining step is 1 /&?ﬁ%ﬁ“@uaa?r G{WFIT 1 Eﬁ?ﬂ%l

3. Step (1) is the rate determining step / TRUT (1), aﬁmw%l

4. 0, is the intermediate in the reaction / ST | (o)) qmﬂﬁ@?ﬂél

Correct Answer :-

o The rate determining step is a bimolecular reaction /R [uRe Uq, W%—W Gfﬁ-m%l

Topic:- Biology

1) Four students P, Q, R and S differently reported the following set of organs to be analogous:
P. Forelimb of frog and fore limb of lizard.

Q. forelimb of bird and forelimb of human.

R. Wing of parrot and wing of butterfly.

S. Wing of bird and wing of bat.

The two students who have reported correctly are:

/ AR BT P, Q, R 3R S 7 (e &1 | 3N HY =Y gardr|

P. He® BT 3 3T 3R foumel &7 31 3



Q. Ueft &7 311 3T 3N |G BT 377 3T

R. T &1 44 3R faaeht &1 v

S. U& #1 U 3R TGS BT U9

3 o1 forgia wdl afies | Ruid fosan, 9 §:
1.QandR/Q 3R R

2.RandS/R 3RS

3.Pand Q/P 3R Q

4.PandS/P 3RS

Correct Answer :-

« RandS/R 3RS

2) A feature of reproduction that is common to amoeba, spirogyra and yeast is that: /
S BT T SAfHALI0T S 3rfiaT, TTSRINERT 3R WHR § YW gia1 8, 98 8:

1. they reproduce sexually / 3 AT =0 J 571 R %'I

2. they reproduce asexually / 3 3l U Q 1 Fa %I

3. they form gametes. / 3 giHD EEIG] %I

4. they need two organisms for reproduction / 38 Ui+ & T &Y Sital o1 STI<THdT Bial g

Correct Answer :-

« they reproduce asexually / 3 3T ¥T J T Hd B

3) The hormone that reduces transpiration is: /

BT St Tt ur B F9 a1 8-
1. Cytokinin / HTZCIBTS A

2. Gibberellin / foTssRfe

3. Auxin / 3T

4. Abscisic acid / TR 3

Correct Answer :-

o Abscisic acid / E@ﬁﬁ 3T

4) The shape of the guard cells changes due to a change in the: /

= uitadq & SR gR-FIRM®EH (1S ) F7 PR uRafdd giar e:
1. Protein composition in the guard cells / GR-BITRIHT3M T U TR

2. Amount of water in the guard cells / m—aﬁﬁm@ﬁ o gt &) A

3. Position of the nucleus in the guard cells / W-ﬁﬁ]ﬁﬁﬁ ¥ 1 ot fRufa

4. Temperature of the cells / BRSBTS BT ATGHAH

Correct Answer :-

« Amount of water in the guard cells / GR-BIRIGISA H T & AHT



5) The part of the plant embryo which grows into the future rootiscalled_ ./
UTIEY YUT ST HFT St Hiysy g1 & ReRa g1 8, 78 Hgarar gl

1. Plumule / TR

2. Zygote / JHAS

3. Cotyledon / EISLE]

4. Radicle / W

Correct Answer :-

« Radicle / HeHR

6) The role of decomposers in the ecosystem is: /

IRt o & sraaes! 31 yfireT gt &:

1. To convert inorganic materials into organic compounds. / HPTEP TSTUf B HlaDH et o uRafdd =
2. They do not act on organic compounds. / J BTEFD ADH R P T8 IR |

3. To convert inorganic materials into simple forms. / JPBTED TSl I TR =0} § gRafefd BT

4. To convert organic materials into inorganic forms. / PIEHD TSIl DT pTai-es =Ul 7 URafcld BTl

Correct Answer :-

» To convert organic materials into inorganic forms. / HIES TS DY hTai- TUl B uRafcld HT|

7) The chromosome constitution of the sperm giving rise to a baby girl is: /
TS TSP B - ¢ T YTV T TURE TS §Il &:

1.44+ X

2.22+Y

3.444+Y

4.22+X

Correct Answer :-
o 22+ X

8) The appearance of dominant and recessive characters in the ratio of 1 : 1 in a cross indicates that: /
TS 1 | YUT SR SMUTd 80N &1 1 : 1 3uTd | Jfud Fean 8 :
1. both the parents are homozygous dominant /
ST S THGTHST guTe g |
2. both the parents are homozygous recessive /
ST S TSl SHTd B
3. one of the parents is homozygous dominant and the other is homozygous recessive /
T SHS TGS THTE § 3R GERT JHgvel smurdt 81

4. one of the parents is heterozygous and the other is homozygous recessive /
TP O TS § 3R ORI JHgwS SUHTd 71

Correct Answer :-



« one of the parents is heterozygous and the other is homozygous recessive /

T S favrgrmol § 3R geRT JHgESl 3gHTdt B

9) Which part of the plant is most suitable for layering? /
TIE) BT S FT U TWROT & fT Ja Sugad 82

1. Hard upper branch / PSR SR TRAT

2. Hard basal branch / R s9d Qal

3. Soft basal branch / TRH STd AT

4. Soft upper branch / IRH LRG|

Correct Answer :-

« Soft basal branch / TRH ST XG

10) Which of the following are NOT cyanobacteria? /
e & & 19 a1 aaE T T8 82

1. Chemoautotrophs / TGRSt

2. Autotrophs / Ut

3. Photosynthetic bacteria / mﬁm

4. Blue green algae / ta E'R’_cf ard

Correct Answer :-

e Chemoautotrophs / TSt

11) Which of the following diseases cannot be predicted using pedigree analysis? /
FRTTaeh fa=eyor ST IUAT % A & | 6 3 &7 et 78) @I S Wt o2
1. Cancer / HR

2. Colour blindness / JUITErT

3. Blindness at birth / 57 & THY Il
4. Hyperdactyly / 3{fe/p Terdl

Correct Answer :-

e Cancer/ PR

12) Choose the domain that contains the most primitive bacteria that lives in extreme environment. /
98 S g R sifafaew waferor & &9 arer ga amer sharyy wffifea @

1. Archaea / 3TH 3T

2. Protista / WIfCET

3. Eukarya / WT
4. Eubacteria / ﬂéﬂ?ﬁﬁﬂ[

Correct Answer :-



o Archaea / 3Tfh 3T

13) Choose the character that is NOT applicable to man. /

6 T I Wi A TR IUGH T ©

1. Multicellularity / SR

2. Presence of eukaryotic cells with walls / ffert & |y Wﬁfﬁ PRl o1 Jufufa
3. Feeding by ingestion / 3[dRUGUI §RT HIUT

4. Storage of carbohydrate as glycogen / fﬂ@ﬁ?@? P TARDIOH & U H GUgUl

Correct Answer :-

» Presence of eukaryotic cells with walls / ot & W DB B FurRUfa

14) Certain animals have the capacity to generate an entire animal from a fragment. Name it. /
FO THRI 8 TP TS A TH I U] ST B DI &HaT gidl 8 1 719 qarsd

1. Gemmule formation / 7Y U= HicrenT At

2. Grafting / qur

3. Fragmentation / fa%ig
4. Sporulation / _Gﬂ\_rl'lwq

Correct Answer :-

« Fragmentation / fadeq

15) Good variety of mango is easily propagated through /

3TH Bt 3| fHT 39S A1eHH | §ifd B Sl @
1. Cutting/m
2. Grafting / qur

3. Tissue culture / Hdh Taeq
4. Seeding / SRIgUT

Correct Answer :-

o Grafting / qur

16) The method of plant propagation in which parts of 2 plants are joined in such a way that they grow as one plant is
called i

%ﬁqwﬁqaﬁﬁﬁrﬁmﬁ,zﬁ%ﬁ%%ﬁaﬁwmﬁaﬁnm%%%wﬁﬂaﬂmmﬁ Feardt
[

1. layering / ¥RTT
2. grafting / gy
3. cutting / TS

4. vegetative propagation / CRRISRELE]

Correct Answer :-



o grafting / o

17) The occurrence of more than one embryo in a seed is called____ ./
T AT A T A s YU HFIIUAET_ Hgarar gl

1. apogamy / {UYHA

2. polyembryony / SgY{UIdl

3. parthenogenesis / NG

4. parthenocarpy / SANHH

Correct Answer :-

 polyembryony / Sg {UIdl

18) There are various methods of asexual reproduction. Which of the following is not asexual reproduction? /

iR S F fafira afids 81d &1 79 § & 3149 91 o1 o= 181 52
1. Budding / P clq

2. Fragmentation / G oY |

3. Fission / foge

4. Syngamy / TW

Correct Answer :-

+ Syngamy / JHDBITIT

19) Twins who are joined together at birth are called i
S A S g PHEard g

1. monozygotic twins / Qab_ﬂn:l\_rﬁ gaS

2. fraternal twins / YT JHS

3. siamese twins / ITIHIS THS

4. dizygotic twins / EEESREE

Correct Answer :-

o siamese twins / ﬂTqIﬁ\_ﬂ gHS

20) The concept of species was given by: /

SHfd Y YPedT §7 gRT &1 1% A
1. Carl Linnaeus / &Ta S+

2. Copeland/ﬁ'qa'g

3. John Ray /SR

4. Ernst Mayor / 3 TR

Correct Answer :-

» Ernst Mayor / e TR



21) The most common mode of vegetative reproduction in yeast is through: /
THR # g yor 91 wed w fafi g

1. Conjugation / TG

2. Budding / HH

3. Fragmentation / GSIHu

4. Fission / fa@sa
Correct Answer :-

e Budding / Pl

22) Human genetics cannot be studied like plants and animals because of: /

AT TIARIBT BT g N iR FaR] $1 ave 39 SR 8] fbar o T
1. Absence of controlled selective breeding / [BRIECEREICCA* EEE R R o

2. Limited traits / ST T&0T

3. Large number of offspring / a@f‘r e o dafd

4. Short reproductive span / Tg US4 3afy

Correct Answer :-
» Absence of controlled selective breeding / [BRIEGEREIECA SRR ARG

23) In grafting, the stock forms the ___ of the future plant. /
IR &, Ty ufass N &1 AT 71

1. rooting system / m PLI]]

2. branch / XTET

3. shooting system / m JuTTet

4. hybrid plant / G TIET

Correct Answer :-

* rooting system / ﬂj’hﬂ% PUIK]]

24) In taxonomic hierarchy, various categories are arranged in _____ order. /
afifeta wum &, fafta Sfwt P | gafeyd Pt ATt §

1. random / TTEw5H

2. ascending /m

3. specific / W

4. descending /3{aRIET

Correct Answer :-

e descending ECR]

25) “V’ shaped notch is made on stock and scion in grafting. /



VABPRIIEE AU H 6 Y 3R IGRS UR 18 o1t g
1. whip / f&q

2. wedge/tﬁﬁ

3. crown / P13

4. side / %S

Correct Answer :-

o wedge / L2]]

26) A group of tissue always has closely linked cells with one free surface. Name that tissue. /

TH HaP & THg | THM TS I TR &A1Y TSP 31 §3 PIRTBIY gl &1 36 SHad $T A1 qargd |
1. Connective / TIST!

2. Muscle / U=}

3. Nervous / TfeT

4. Epithelial / JUHET

Correct Answer :-

e Epithelial / Ul

27) Dogs and other animals vaporize water through panting because: /
T 3R 3T AFTAR GTIBR oTet aTofiehRoT et § Faifop:

1. They do not have sweat glands /Wqﬁﬁmﬁ@?ﬁ

2. It is their habit / T8 3T HGd 3

3. They secrete excess saliva /3 &ri%iﬁaaaﬂﬁmaﬁ%

4. They drink only very little water / 3 ggd REZRIE dta %

Correct Answer :-

« They do not have sweat glands /Gﬂﬁqﬁﬁmﬁ@?ﬁ

28) Find out the WRONG statement about epithelium cells. /

SUSH Al HIRBTSH F TR H 7Terd HY Jd iforg|

1. Trachea is lined by pseudo stratified epithelium / AT @wﬁﬁmm GH_CIﬁ_dEaT‘IT %

2. Cell division in epithelial cells is very slow / U HIRBTSM H BIRABT ﬁ'l-ﬂ\_ﬂ:fa_g'ﬂ ‘EﬁIITaT‘lT%

3. Epithelial cells are held together by desmosomes / SUD I Tﬁw JYDTI gRI Th A1y T Q_E"_cﬂ %

4. Squamous epithelium is also called pavement epithelium / Teh! IUHA BT WW lﬂW\_rl'lT‘lT%

Correct Answer :-

« Cell division in epithelial cells is very slow / SUD T HIRIBISN H DITRIHT [AHTSTH ggd fa T g

29) Tissues that grow upon tissues, line the body and organ surface and cells are held close together, are features of: /

FdP Wil Had! W BRI §1d 8, IR 3R 371 ag B 3mald #a & SIRTBE Ue g A T g4t €, A fpa wspr
F AP b T §:



1. Connective tissue / TSt 3P
2. Muscle tissue / TRt Sddh
3. Nervous tissue / AAPT SHdd

4. Epithelial tissue / SUD AN SHdD

Correct Answer :-

« Epithelial tissue / 3UD AT Hddh

30) The biokinetic zone of most organisms lies between 10 and 45°C. What might be the root reason? /
ifRrpi=r Sital &1 Sa e 85 10 3R 45°c & &1 Y5aT 8 | G HRUT T 81 TPl 32

1. Temperature cannot go beyond these limits / dATTHIT S @ﬁmsﬁ“@m%qé‘rmw

2. Most enzymes work effectively in this range / 3Hfrepier EEIE RS IRER & gHTd &7 8 B HRd %

3. Organisms are more comfortable in this range / S < gRaR o el U Eﬁﬁ %

4. Organisms feel cold or feverish /Sl B 38 T waR Hegd Eﬁ?ﬂ %

Correct Answer :-

e Most enzymes work effectively in this range / KIBEAR USIISH sﬁtrhwﬁmnﬁaﬂﬁwaﬂﬁ%

31) In cold weather, a protein diet is more helpful to the body because: /

X & W, T W 3MER IR F g oiftre Iuarht g @ Fife:
1. Rate of metabolism of protein is lower /W%Waﬁaﬁﬂfﬁ?ﬁ%
2. Rate of metabolism of protein is high /W%Wﬁaﬁﬁ %

3. Rate of metabolism of carbohydrate is high / d?ldTSls\jd & IUTTIY aﬁaﬁ@?ﬁ%
4. Carbohydrates lower the body heat / m@? IRR B TH DI HH W%

Correct Answer :-

* Rate of metabolism of protein is high / SIE! %Wﬁaﬁafﬁ?ﬁ%

32) Viruses deserve a special group of their own. Which of the following support this view? /

fauT) e & e ARy Wy & 9 7| R A B 39 wfe ° qude 3

1. They contain both RNA and DNA / STH SRUAY ﬁmﬁmaﬁ %

2. They exhibit the properties of both living and non-living /3 Shfad 3R ﬁﬁhﬁ%wmaﬂﬁ%
3. They are cellular / %W%

4. They are capable of self-replication /d wﬁwﬁﬂmfﬁﬁ %

Correct Answer :-

» They exhibit the properties of both living and non-living /3 Sfifad 3R fAsifa g q%qwu'cﬁf'craﬂﬁ%

33) Which of the following is NOT a function of gap junction in tissues? /
P A A PT T Had! § SaRTeRiTY HT U™ T8 82
1. Connect cytoplasm of adjoining cells | HAY BIRBT3M DT BRG] G I o S



2. Facilitate the cells to communicate / BITRIHT3 BT GIR B H HAag HIdl &
3. For rapid transfer of ions and molecules / 3T 3R s{q&ﬁés gd R & ferd
4. To stop leaking of substances across a tissue / Tdh HdP @Wﬁ%?ﬁ?ﬁ AT

Correct Answer :-

« To stop leaking of substances across a tissue / Th Hdh ﬁmﬁ%%ﬁﬁ CARICEI

34) Which of the following statements is WRONG? /
Fadd P AT Y T 8?2

1. All bacteria are heterotrophs /Hﬂ-ﬁﬁw RO Eﬁﬁ%

2. Yeasts are unicellular / WW&W@?{%

3. Order is an assemblage of related classes / 707 Hafd ol b1 Th TS %
4. Kingdom Monera includes bacteria / SITTd ﬁlﬁ?—[ 'Ef éa%ﬂﬁfm F&Iﬁlﬁ E?I_clT %

Correct Answer :-

o All bacteria are heterotrophs /gt %NTQI RO Eﬁ?f %

35) Which of the following is the most important cause of heat stroke? /
e o A ST BT ) WeyUl BRI I A1 82

1. Rise in body temperature / YRR & dgHE H q@

2. Salt imbalance / TH® 3RIJa

3. Sunlight / Waﬁff-‘ﬂ:ﬁ

4. Sweating / T 37T

Correct Answer :-
« Saltimbalance / TH® 3

36) Which of the following is a chemoreceptor? /
ra # @ o1 a1 EaTE 72

1. Temperature / dTJHI

2. Smell /1Y

3. Touch / TRf

4. Pressure / QId

Correct Answer :-

o Smell /7Y

37) Spot out the limbless amphibian from the following. /
frafefee & & urg *fed Syg=R vgarfu

1. Salamandra / W@T

2. Ichthyophis / ‘s’@@ﬁv‘ﬂ



3. Bufo / g1
4. Hyla / BTl

Correct Answer :-

« Ichthyophis / R

38) The myofilaments of the band of muscles contain: /
HURE & 98 F Arifharicy | = g §id §:
1. Heavy meromyosin / YR TR

2. Only myosin / Had ARNRE

3. Only actin / Had Eﬁq

4. Both actin and myosin / Eﬁ:{ 3%? A™IRE ?ﬂ:ﬁ

Correct Answer :-

« Only actin / $dd Ufde

39) The biomass available for consumption by deer in the forest and the fungi and bacteria is called .

HaP g dERINAT 3R o7 & fR0T F gRI@Uad & R SuqU g AT ®____ Ferwai gl
1. Standing crops /‘@Spf B

2. Secondary productivity / fedias® IdeHd

3. Gross primary productivity / Hb T IdTGhdl

4. Net primary productivity / ¢ WIfHS IdTgHar

Correct Answer :-
o Net primary productivity / e Tufie Sargamd

40) The gas released from germinating seeds indicates that the seeds are .
Sipfd g1 @ el & Frefas A R vt @ 5 it gl

1. alive and respiring / Shifad 3R §g

2. alive and decomposing / Shifad 3R 3roees

3. alive and decaying / Siifad 3R o

4. dead and decaying / §d 3R &ur

Correct Answer :-

« alive and respiring / Sifad 3R 4T

41) The shell of a mollusk is secreted by: /
Mae ST FgRIEIad S Sl B
1. Mantle / Hed

2. Viscera / TR

3. Osphradium / STIf&(T



4. Radula / 9

Correct Answer :-

« Mantle / §cd

42) The embryo culture is mainly applied for: /

YUT TP fd &I =4 | 39 ol yuta & arg vt 2:

1. Cloning propagation / FAIT TR

2. Production of embryoids / “;LUﬂm & JdTed

3. Induction of somoclonal variation / SIFAE AfHTT & THAYA

4. Overcoming hybridization barriers / h0T BT Wtﬂef

Correct Answer :-
« Overcoming hybridization barriers / § Ul EICIEIRCEY mqﬁ

43) Slow and sustained contraction is a feature of red meat. Which of the following is red meat? /
T SR FARaR e aTa | &1 agvr & | e | 3 o1 a1 a1 7 82

1. Tongue / ﬁET

2. Extensor muscles on the back / U%d TTROT UfRmaf

3. Muscles of stomach / 3THTRII Pt UMY

4. Limb muscles / UTG TR

Correct Answer :-
« Extensor muscles on the back / T TTRUft UfRmT

44) One group of the following is called degenerate codon. Identify. /
9 % U@ g & JUgIiid BISH ®gd § | ygdn=d |

1. UUA, UUG, CUA, CUG

2. CUC, CCU, ACU, GCU

3. CUU, CUC, UUC, UUU

4. UUU, CUU, AUU, GUU

Correct Answer :-

« UUA, UUG, CUA, CUG

45) A man lost a lot of blood in an accident whose blood group is unknown and needs blood transfusion on emergency
condition. His friend was allowed to donate his blood to the patient. What would have been the type of blood group of the
donor friend? /

TS gHeT | U SATeHl T HTW! Tad 98 74T Ud SUPT I9d THE SITd 8 U I SATUTABTAI AT & IFrer $t
ATARIHAT ¢ | IAD SR DI TS BI 79 g9 A D1 Al ¢ & 15| ST SR & I THE BT YR T g g2

1. Type A group / PR A HHg
2. Type O group / YR O HHg

3. Type AB group / UHR AB THg



4. Type B group / YPR B UHg

Correct Answer :-

» Type O group / UPR O THg

46) Name the mollusc which has an ink sac. /
39 HIaEP BT A gdrsd o w=_iie v gar gl
1. Cuttle fish / cd BRI

2. Mussel / HIA

3. Pearl oyster / Hadl QI&T
4. Devil fish / STTHI
Correct Answer :-

« Cuttle fish / Pcd R

47) Name any two organisms which can occupy more than one trophic level? /
I 3 oital BT T FaTEd WY TP | e Nifdwar TR W @ 8§ 9@ 32
1. Paddy, wheat / &, T§

2. Crow, bear/aas?’ﬂ, I

3. Virus and viroids / AIg<d 3R ﬁﬁ%@'

4. Bacteria, fungi / W, Dddh

Correct Answer :-
e Crow, bear / ﬁéﬂ, Ui,

48) Name the scientist who discovered the PCR technique? /

AP F1 AT Fargd SRM TR ao-ite ot @i 3t
1. Stanley Cohen / R-Tell Blg

2. H. Khurana / . G

3. Kary B. Mullis / <1 & Gfe

4. H. Boyer / Ta.aAR

Correct Answer :-

« Kary B. Mullis / 531 &t. Gferd

49) Receptors are: /

1. Specialized tips of nerve cells / d@IREs ot faftre feu
2. Motor nerves / IR dfFeT

3. Nerve impulses / RIECAREIGE

4. Sensory nerves / a4l AT



Correct Answer :-

 Specialized tips of nerve cells / dwEIREe o falkme feu

50) Balanoglossus is a representative of: /
S, 1 & feus 21
1. Sipunculoidea / FWT_{%QT

2. Chordata / PiacT

3. Echiuroidea / W’E’{%\W
4. Hemichordata / gHIeIS Tl

Correct Answer :-

e Hemichordata / %W@ET

51) Ginger is vegetatively propagated by: /
XD BT AFRYTAD I TP GRT 51T &:
1. Sucker / JHH

2. Tuber / A}
3. Rhizomes / g

4. Bulbs / dc¢d

Correct Answer :-
« Rhizomes / U<

52) What is the water potential of pure water at standard temperature? /
A IIH U Y[5 oA T o faua a1 gian 32

1.1

2.10

3.0

4. 100

Correct Answer :-

53) What is the function of sertoli cells? /

HeTet BifrewTsit 1 yHTd T 32

1. Produce spermatogonia / [ TU[ST BIESEZSI

2. Provide nutrition to germ cells / T HIfRABI37 B U7 T HRAT
3. Secrete hormones / BTHIA HTAd BT

4. Give resistance / TfaRIY T

Correct Answer :-



« Provide nutrition to germ cells / S DIRABTSHAT BT TIT0T TG BHRAT

54) What is the point of insertion in skeletal muscles? /

HoTa Uil | fawe fig @ @

1. The end of the muscle which is attached to the immovable bone / ORIt T 3fd Sif WB@@@TEW%
2. The end of the muscle attached to the movable bone / Il @ 9 ST g3l UM &7 3id

3. Belly of a skeletal muscle / HebTcl U Bl dig

4. It refers to ligament / Jg HIY I Yeffd BT g

Correct Answer :-
o The end of the muscle attached to the movable bone / Il B@ q NSRS U= BT 3id

55) What is similar about the root hairs and lateral roots in the following statements? /
e oy o ga A ok ure gl & IR F s 9uE /2

1. Both help in fixation /e R0 H Heg dxd %

2. Both have long life e o & 3g LI

3. Both increases the area of absorption / I STRINOT T & W %

4. Both are multicellular /&1 agaﬂw g

Correct Answer :-

» Both increases the area of absorption / FEIEERINEIEE] aa?r %

56) What is coccyx? /

RS 7 F?

1. Tail of the vertebral column / FREG.8 &1 'GJ
2. Neck vertebra / UTdl HRIEH

3. Part of the limb bone / TG &1 6@ CARRESS ||
4. Part of the inner ear / 3T BT BT 3Ll

Correct Answer :-

« Tail of the vertebral column / HEGS Pt G

57) What is a telomere? /

JaEs |32

1. The sequence of RNA found on replicating molecule of DNA BTN & Elﬁl@_d S IR Urm S a7 $REAT BT S{JPH

2. On the ends of eukaryotic chromosome the regions of repeated sequence of DNA / m RIS & R R STT &
TR SThH S &

3. A G-C rich region of DNA / ST Wﬁﬁ-?ﬁw &
4. On a bacterial chromosome the point of DNA termination / U \_rﬁaTq RIESERERY ST TS &1 ﬁg

Correct Answer :-



» On the ends of eukaryotic chromosome the regions of repeated sequence of DNA / W O & RRI R STAT &
RIGd 3IhH & &

58) What happens when population are reduced drastically in size, genetic diversity and heterozygosity? /

T T & STd SHESAT /1Y, 3Ta e fafaerar ofiv fawwgersrar & Suar @ ued! 82

1. Are likely to decrease the probability of extinction / fqag= &1 widdT &1 gel 9dd %

2. Are likely to increase the probability of extinction / fadiT &t uiiear &1 del Thd %

3. Are not factors that influence the probability of extinction / 3 PR T8 ¢ N fadiu= Bt uifiesar & UHTId Hd &

4. Automatically respond in a way that protects populations from future changes / WA U Y 39 il H ufaswR e g ot
SRS BT Hias & GRadH! § STl &

Correct Answer :-

» Are likely to decrease the probability of extinction / fqaT= &1 wiidsdT &1 gel Tdd %

59) Why root cells have lower water potential than leaf cells? /

Ta SIRE18M (T AT) T U= HIR®181 (Aw Ie) A 70 9d faya & giar 2

1. Root cells have lesser solute concentration. / Hcl PIRIBTSA =c @f?\‘:l) 1 facig gigor &4 gidn %I

2. Root cells have greater solute concentration. / F<T CAIREIED] Xxxc @?\ED o1 fac wigor 3w g %I
3. Leaf cells have lesser solute concentration. / U1 @ 11RIG131 &7 faerd AUl HH BIaTl % I

4. Leaf cells have greater solute concentration. / Th pIRIbT3H @1 faca igur s Eﬁ?ﬂ %I

Correct Answer :-

» Root cells have greater solute concentration. / H{&l CAIEEAE] xxc @F\‘D o1 fao Tigur 31w ST gl

60) Chromosome number in meiocytes in housefly and fruit fly are always ./
W AT 3R Bl Aol | fdiarged § ungEl St E@ngawm_ gt gl
1. None of the above / @éﬂﬁ HABIS Tol

2. Haploid / G'P;[ﬁl?f

3. Polyploidy / GE‘IWIFIT

4. Diploid / 7o

Correct Answer :-

« Diploid / fgigfora

61) How are the organs like root, stem, leaf, etc. formed? /

TS, 1, TRiY, 3M1fe o SFT 4 §1d &2

1. By cell migration into the appropriate position in the tissues / Fas! # Ifa fRufa 7 ST yarg gri
2. By cell division in the meristematic tissues fRAYAE SHdb! § SIS [AHSH gRIT

3. By cell division in gamete tissues / JTHDH Sdd! B HIRGT f[AHSH gRIT

4. By rearranging the genetic material in the precursor cells so that organ specific genes are activated /

AT BIfRepTedl & gafie It o1 A= R R 3 fafkiy s aftha 8 i



Correct Answer :-

» By cell division in the meristematic tissues fAYA® SHdb! § SIS [THSH gRIT

62) How can point mutation result in silent mutation? /

fag Safvad gw Iafvad= & uikonfia &3 gt a@ar g2

1. Premature translation is lead by change in single base / Oblﬂl-cl\dr 3dlq Uhd IMMYR T g I &I'HEPR‘IT%

2. Change in a single base which has no effect on the protein / Thdl Wﬂﬂﬁwmmﬂquu%ﬁm

3. Alteration of reading frame of the gene by the addition or deletion of a base /Gﬁ?ﬁawaﬂl 3l &FR%@’S’UTWW
BIRCRE

4. Changing a single base within a codon from Ato C/ U&d &‘I'ITEIOAT CARIEE: WWA@ cHURGdTI BT &

Correct Answer :-

e Change in a single base which has no effect on the protein / Thd WWﬁWWWW#HWH’Eﬁ@W

63) An open reading frame (ORF) is distinguished by the presence of: /

TS GAT Yo A (NARTP) 9@ IufRAfa A fafry a=man siman 8:

1. A DNA sequence encoding a protein /WWWWWWW SRC
2. Start codon /R'l?fm:f

3. Stop codon /E'fq GG
4. All the above / Judad Tt

Correct Answer :-

e Start codon /E'I'c.F CARIE

64) To which one of the following is biopiracy related to? /

SRt o A @ frw T @ wafta @2

1. Produce the gene of interest. / fed S IdTE BT

2. Modify an existing biosynthetic pathway. / AU ST YRS TY BT TR HRAT
3. Prevent expression of a native gene. / TS ST BT e AH R

4. Traditional knowledge related to bio-resources. / ﬁa’-w%Fﬁ I AdfId WURRTd Nk

Correct Answer :-

 Traditional knowledge related to bio-resources. / S9-TgTeAl ¥ Geiftrd WRuRETd 9

65) ELISA is based on the principle of: /

ofra 5o Rigid W amuiRa &:

1. Antibody-resistant interaction / Qﬁ@f@ﬁ-ﬂﬁﬁ?ﬁ Sfarfepar
2. Antibody-antibiotic reaction / @aﬁ-m ufafesar
3. Antigen-antibiotic reaction / W—m ufafesar

4. Antigen-antibody interaction / yfaeH-ufaRef siarforar

Correct Answer :-



» Antigen-antibody interaction / ufaoH-ufcRef siaRfebar

66) Phelloderm and phellogen denote and respectively. /

P AER (PealsH) 3R PTSH (Baler) HHT: MR # Ay P g1
1. cork cambium, secondary cortex / Pih m, %?ﬁ'q Picaq

2. cork, cork cambium / 35%, Pl W’q

3. secondary cortex, cork cambium / ﬁ?ﬂ'q Eb—\l%%m, P pIETH

4. secondary cortex, cork / %T‘ﬁ'q Eb—\ﬁ?ﬂ, Pih

Correct Answer :-

 secondary cortex, cork cambium / Iad g aﬁaﬂ, Pl pIFTTH

67) In vascular plants, the difference between the shoot and root system is: /

Hag Wl 7, IR18 ok o1 a7 & fig o1 3R 3:

1. Shoot system cannot undergo secondary growth / Qﬂ’s’ SEERIILI q@ :|_Eap[ _El-T Tt

2. Root system undergo secondary growth but do not form bark / H{&l SERRIILI f{@ Ea—cﬁ % tRﬂ 3 =|%°ra=n?r

3. Stem system do not have pronounced zones cell elongation whereas root system have them /TFITT‘H?&W &3 HIRABT
Sefep=ur et g St 7ol dA W BT §
4. Roots can store food whereas stem cannot /\_rlg WWWW%WW?@WW

Correct Answer :-

« Stem system do not have pronounced zones cell elongation whereas root system have them /?FITT‘H?&W REEAIRED
Sefep=ur et g St 7o dA W BT ©

68) Which of the following is associated with the female part of the plant? /
o & & B a1 N & wrer Wi § Wit §2

1. Microspore/ TTgsiToITy]

2. Anthers / TR

3. Antheridia / Q?ﬁﬁ%aﬂ

4. Archegonium / Tt

Correct Answer :-

« Archegonium / A&

69) Which of the following serve as an important biofertilizer? /
9 & @ D19 91 U TE@ul Sa-3d® $i AvE BTH Al 82
1. Free living bacteria / Hod CEIRl

2. Cyanobacteria / :ﬂ?’f Eﬁ_d ﬁa'lﬁ

3. Green manure / 831 91G

4. Mycorrhiza / Iﬂ?;ﬁ?‘l%?rﬂ

Correct Answer :-



« Cyanobacteria / FTd 8 2drd

70) Which of the following is used in Whole-genome sequencing? /
Bra-oii= ergepwor & fr § & fbeeT v fova sira 2

1. Automated sequencing only /had aTed ST HUT

2. Short gun method of genome sequencing only / S P HUT & 9T 7 fafyr

3. Clone by clone method of genomic sequence only / Eiglitcy S{IhH D FAA Eﬂé Tl fafdr
4. Both options A and B e A 3R B !

Correct Answer :-

» Both options A and B WA@TBG:I

71) Which of the following match is WRONG? /

frafafea & 9 19 |1 ve 39 o4 32

1. Pentose — ribose, deoxyribose / ﬁ‘cﬁ\—:r - TI%@?, %Gﬁmq

2. Hexoses — glucose , fructose /%ﬂ’\“ﬁ@fﬁ — "Fﬁ'ﬂfﬂ, mﬁf

3. Tetroses — erythrose, threose / ‘E*a‘ra - Qﬁ?vhﬂ, g

4. Disaccharides — galactose, pseudo heptulose / Eﬁﬁm - ﬁﬁa@q, @33[ %@@W

Correct Answer :-

» Disaccharides — galactose, pseudo heptulose / 3@%33 - ﬁm, E\_{-'?f %'@fﬁﬁ[

72) Which one of the following process is common to fermentation process and aerobic respiration? /
o ® @ o= At wftran fosvas uftean iR sifwita o= & 99 gt 82

1. Citric acid cycle /w SANICED

2. ETS / 3¢I0H

3. Oxidative phosphorylation / SfRfHRUl BPRB R

4. Glycolysis / AT DI

Correct Answer :-

e Glycolysis / LSIEEAISIRSES]

73) Which one of the following organisms is scientifically named, correctly printed according to the International rules of
Nomenclature and correctly described? /

THISR & SfeRig fFrawt & o, Frafifla § & #19 @ v sfita 7 3w T far mar 8, wd wre 9 file fma
T & 3R IHPT "l v | quie fhar mar g2

1. Potato and brinjal are two different genuses but belong to same species / &ﬂﬁ@? s Tl SIAT-3ET A % dfee T Wiefis
Hama gl

2. Triticum aestivum, the common wheat, comes under class Dicotyledonae / ?ﬁ?ﬁm QERQ'EFL SR ﬁﬁaﬁ S 3$.|é QIR
TR

3. Panthera pardus, an Indian leopard, comes under genus Felis / TR URSY, Uh YRAT Eﬂ?ﬂ, CRRNERRCIG | %I
4. Musca domestica, the common house fly, an Arthropoda / AIHT ?ﬁw@m, A ‘aiqﬂa@, T dfeare



Correct Answer :-
e Musca domestica, the common house fly, an Arthropoda / HIDT W, HqTHY ‘aiqna@, Th dfeare

74) Which one of the following would belong to the domain Prokarya? /
fra & & 17 91 ve S Merar & wafia ghme

1. Photosynthetic plants / T2d%® T1Y (BleIRidfe® wic)

2. Multicellular animals / Wﬁlﬁb—l’q Sid

3. Multicellular fungi / SEHIRID I HadH
4. Thermophilic Arche / ATIRT 311f¢ d@ (HHW &Tﬁ?)

Correct Answer :-

« Thermophilic Arche / ATORTT 3M1fe I (yHfhfeI® 3Mfdh)

75) Which one of the following strategies will be most effective to prevent the seeds from germination? /
o BT ST A Ay 5 e Fre A & BT 0 g TR o T g

1. Prevent imbibitions /3{d:ZIS0T T

2. Prevent desiccation /ST¢T [&h RABHT

3. Prevent fertilization /ST b1

4. Prevent dispersal / ﬁﬂﬁﬁ AP

Correct Answer :-

« Prevent imbibitions /3{d:XNYOT T

76) Which one of the following statements is NOT a characteristic feature of Phaeophyceae? /

o ¥ P 91 HuT B o1 te ARk aaor a8 e

1. The plant body is attached to the substratum by a holdfast. / Q1Y) T TR T gRT YIRS CH) g ST el %I

2. The plant has a stalk, the stipe and the leaf-like fond. s D R: e W), qﬁm (X0 IR Ul & 3MHR & Bi-s B 7 |
3. The plant stores food as floridean starch. / QYT YIS ) TAIRTS 3T T & =0 H fad SR %I
4. The cell wall is covered by a gelatinous coating of algin. | PIRIHT FHRY & 18R Tfes &1 STaife=t 3RaR g %I

Correct Answer :-

e The plant stores food as floridean starch. / QT 1S Bl FAIRTS 3T W & =0 # T R %l

77) Which is the largest muscle of the human body? /
A9 IR Bt a4 go1 U2ft w1 ot @2

1. Stapedius / wriifeayd

2. Gluteus maximus / ICH EECRIEan|

3. Sartorius / RN

4. Masseter / TR

Correct Answer :-



o Gluteus maximus / I Ty

78) Identify the site of photosynthesis in light independent reaction. /
THTRN ¥ UfAfehar & U1 WAl & Wd B Ugan-g|
1. Thylakoid membrane / WE_E'; %I('_(“ﬁ

2. Thylakoid lumen / Wﬁ'@?{ﬁq
3. Stroma lamella / Ej'cﬂ qefidl

4. Stromatal matrix / IHTCA ﬁﬁjﬂ[

Correct Answer :-

« Stromatal matrix / ®IHCH Hfedq

79) Identify the sugar found in mRNA? /

TH 3RTAT # U} &1 aTell WrebT ygant-a?
1. Deoxyribose /%\}m

2. Maltose / HATeC NI

3. Ribose / QT{@W
4. Dextrose / %EIR:H

Correct Answer :-

¢ Ribose/ TIE@?

80) Identify the WRONG equation from the following. /

g & A T g 9 Sifer |

Glutamate + pyruvate--——-—-- = Glycme-ketoglutamrate /
Transaminase

TOETHE + UT56dE-——- STAFHI + HEFCRIC
MGIEE

R Y e e ~ 3 NAD+H:O /
Cytochrome oxidase

JU7-N1) s Skt o N — ~= NAD+H.0

HISTRRIH e SH

Pyruvate+COy +ATP-m—meeemmemeeeeev —>Oxaloacetate+ADP+Pi /
Pyruvate carboxvlase

QE6de + COy + ATP —-oeeemeee e > HiFdevigee+ ADP+PI



Glucose 6 phosphate---—-—-mmmo—mmmmv - Fructose 6 phosphate /
Isomerase

T[N 6 BIE —> Waelal 6 HiEhe
HEEHE

Correct Answer :-

Glutamate + pyruvate--——-—-- = Glycme-ketoglutamrate /
Transaminase

TOETHE + TT56aE——- STAFH + HEFCRIC
MGIEE

81) Identify the WRONG match from the following pairs. /
e g & 9 Tera A9 3 g

1. Gynoecium : Pistil /me - T B

2. Cladode : Ruscus / FASIS : THHY

3. Perianth : Tepal / URGAYS : URGd

4. Ficus bengalensis : Stilt roots / PISHH SRR ; fawdiH Hda
Correct Answer :-

« Ficus bengalensis : Stilt roots / TTS®HY SR : SHIXIH qda

82) Identify the WRONG match from the following. /
fFufafea & 3 Taq 9d @ tgaF |

1. Secondary productivity = producers / fgd1a® IdTGdHdl = IdTGH

2. Desert = biome / FRERIT = S1aH
3. Natural ecosystem = forest / Q'@ﬁﬁ? uiiRfRyfie! o = a4

4. Decomposes = bacteria, fungi / AUIC HRl= éaiﬁﬁm, hHddh

Correct Answer :-

» Secondary productivity = producers / fedia® IdeHd = SAGH

83) Identify the WRONG pair from the following. /

frafafea & @ oa 3w wra Fifom)

1. Structural polysaccharide : Glycogen / Wqﬁﬁéﬁﬂ% TSI
2. Purine : Adenine, Guanine / u{ﬁ_"[: Q%:ﬂ%:f, qEHE

3. Pyrimidine : Cytosine, Uracil / ICIREEGE Wﬁﬂ, Lﬁﬁlﬁ

4. Heteropolysaccharide : Hemicelluloses / %@tﬁﬁ’l@m %ﬁajﬁﬁa

Correct Answer :-

« Structural polysaccharide : Glycogen / Wqﬁﬁm m



84) Identify the fish in which males possess a brood pouch. /
IE WDl Ugan=a, R TR & Y1 Hivs SufRd giar gl
1. Sea horse / ﬂ'ﬂ?ﬂ‘in@

2. Saw fish / 3RT A&l

3. Sting ray / fawdw

4. Dog fish / T Sl

Correct Answer :-

» Sea horse / ﬂ'ﬂff‘?ﬁ@

85) Identify which property is NOT a part of all living organisms. /

98 uryH uganfrd St T shfaa sfital &1 sifrasor T8 1
1. Homeostasis / TRfas

2. Cellular organization / PIRMDIT FT3

3. Status quo / UW@I‘%

4. Energy utilization / Soll T IUTNT

Correct Answer :-

« Status quo / qaﬂ'&é@lﬁf

86) Select the WRONG match from the following. /

7 o 9 e A9 31 g

1. rDNA = large scale production / 3R ST = a% JAM R IdTeA

2. Sticky ends = restriction endonuclease / fore RR = ufase qu\_ﬂ

3. Vehicle DNA = cloning vector / é%w :fﬂutm — GAITHT dgex

4. Electroporation = vector less gene transfer / sﬁaathw = am:f ST RIFTAROT

Correct Answer :-

» rDNA = large scale production / 3RS = a%ﬁnﬁq? JdlgH

87) Select the CORRECT statement about plant life cycle. /
e ¥ 9w sy g

1. Plant life cycles are characterized by the alter nation of generations in which the haploid sporophyte give rise to a diploid
gametophyte. / UTGY Sfia gsh Ffeal & HHIGRU gRT UgaH oTd ¢ forad SR WRitTse U feagford THewge Iaa
FRAT 8

2. None of the above Wﬁ@ﬁg T8l

3. Plant life cycles are characterized by the alter nation of generations in which the diploid sporophyte give rise to a haploid
gametophyte. /U1 Sita dgp Tifgdl & SHHIARUI gRT UgdT S & forad f3ford TWiRiwTge U Sy fieihge S
FAT 7

4. Plant life cycles are characterized by the alternation of generations in which the diploid gametophytes give rise to a diploid

sporop%hyte. WWWW%WWW@%WWWWW@WW
CRGl

Correct Answer :-



» Plant life cycles are characterized by the alter nation of generations in which the diploid sporophyte give rise to a haploid

gamet%phyte. WWWW%WWW@%WWWW&WWW
CRGl

88) In flowering plants, the male gametes just before double fertilization is formed from: /
gudt urgul §, TR g fg-Foe & @Rd ued $99 a4 §:

1. Microspore mother cells of anthers / URTT DY DI W TS DIRIBISH

2. Microspores / W

3. Vegetative cells of pollen / UXTT CAREIRERIRCAR

4. Generative cells of pollen / URTTT P TS PIRABISA

Correct Answer :-
» Generative cells of pollen / UM P USTH BIRABISA

89) Many plants show daily movement to maximize their capacity to absorb light energy. The daily changes in shape are
caused due to: /

P N THT SHolt I TN B | 371 &aT D) ifirpatiied w31 & forg e wfa i@ €1 R # 2fe
gf¥ad- 9P HRU IUA Bl &:

1. Temperature changes in the environment /dTcTdRUT T qroHT aRkad

2. Growth of specific cells /fafers PiRIwI8M H1 fawr

3. Contractions in leaf cells /ORIt ﬁﬁTﬁ&hﬁﬂW

4. Changes in turgor pressure in specific cells / fafary PIRGISH & Whid grd o gRadq

Correct Answer :-

« Growth of specific cells /fARRIF HIfraw1e7 o1 fdewT

90) Animal is fish like. They have all chordate features. Notochord extends the whole length of the body from head to tail
and it persists in the adult. Identify the animal. /

Ao HSe B aRE & 1 ST Pl & Tl @eor 8 1 Teave] AR T U9 @ IR F It avars # el T8l € ok aawe
# g+t Tg<t 81 39 woht @Y ugaE Fifsrw)

1. Petromyzon / a; BIETIT
2. Branchiostoma / éﬁ?ah@m
3. Shark / ]

4. Ascidia / TRIfSTT

Correct Answer :-

o Branchiostoma / é%@l@m

91) Give the scientific name of the ‘Sting ray’. /
v =1 (R ¥y *1 37 T FaEw)

1. Pristis / Ui

2. Carcharadon / RIS

3. Scoliodon / TPITCTATS I



4, Trygon / I

Correct Answer :-

e Trygon/ Wﬁq

92) Which of the statements about non-biodegradable wastes is CORRECT?

i. They are commonly man made.

ii. They can be degraded by micro organisms.

iii. The soluble non bio degradable wastes enter food chains and cause bio magnification.

iv. They do not accumulate in nature.

/ SrtafTHiERoig Ul & aR & B9 A HYF TG 7?2
i. 3 TrT=E aa Affa g #

ii. @ g&H oital gRT FAEfied 63 o a@a 71

iii. g srtafreteofta s @mer gaen & waw w7 € 3% Sa 3t #a
iv. d Upfa & Afra =6 g1 |

1. iii and iv / iii 3R iv

2.iand i / i AR iii

3.iandii /i 3 ii

4.iiand iv /i 3R iv

Correct Answer :-

. iandiii / i 3R iii

93) Which one of the following statements about anaerobic respiration is WRONG? /
frafafea # 9 sATRT 499 & TR § S 91 T $YF T o2

1. Water is one of the by-products of this respiration. / SI¢T S G HT Tdh 3IqIdTG %I

2. Energy released is less. / ﬁ'ﬁaﬁ Sl HH Eﬁ?‘ﬂ % |

O, is not utilized during this respiration. / S8 I8 & GRIA 02 & 3YAET gl [ehAT ATTI
3.

4. Tt occurs in the cytoplasm. / I8 HIRIHT g0 § gidl 71

Correct Answer :-

o Water is one of the by-products of this respiration. / SI¢l S HI HT U IqIdTG %I

94) For removing chlorophyll from the leaf, it should be boiled in ./
Uil & TR a et & o, 39 H a1l ST Afed |
1. Alcohol / TehIgId

2. KOH solution / KOH faea=

3. Water / S

4 I; solution / I faera=r



Correct Answer :-

« Alcohol / TemIgld

95
) Whatis missing in the below mentioned reaction? /
Ary Feot@d srfafgar 7 =7 ocd &2
Chlorophyll / FRTther
i +12H,0 »CsH 2 O5 + i +6 H.O
Sun light / GeRTRr

i. 6C0; ii. H,0
i.0, ii. CO;
i. Glucose ii. CO, / i. TepITii. CO;
i.6C0; i 60,

Correct Answer :-

1.6C0O; 1. 60,

96)  The given picture shows: /
A v o [ & g mr &
1. Chemotropism / W\Hﬂ?ﬁ:{

2. Phototropism / Wﬂﬂﬁ?ﬁ
3. Hydrotropism / Gl?l'lﬂﬁ'cﬁ
4. Geotropism / Wﬂﬂ?ﬁ

Correct Answer :-

« Phototropism / Wﬂ'ﬂ?ﬁ

97
) C, plants are better adapted in tropical and desert areas because: /

C. Aty IeorRfedelir 3R AT & 7 SEaT FaHied g ¢ i

1. The involvement of only bundle sheath cells / Had PEIEH P13 B S|
2. They conserve water for photolysis / q U3 & e ofd TR o & |

3. They can perform a high rate of photosynthesis even when the stomata are nearly closed / Y P TTHT §G 81 IR i Tpre

YA T 3= &R e d Har g1



4. Stomata are not present in xerophytic condition / Y8/ SRIBIEC a1 § IURYd a1 gid |

Correct Answer :-

o They can perform a high rate of photosynthesis even when the stomata are nearly closed / Y P TTHTdE 34 R M Uhr
LAV b1 = &R e el g

A destarched leaf on a potted plant was covered with black (A), white (B), and transparent (C) strips of
paper as shownin the figure. After six hours of exposure to sunlight, the leaf was removed from the plant

and tested for starch. Which one of the following will be the correct cbservation? /

Udh 7HeT & Gl W SRS Godl & wleli(a), @ihe (B), 3 aresffiq) &t i ot & aar
TN TS B e A BE 6 @ & d, Teol B 9 F ger forar aman 3R =M & fow
adiaTur fahar I e & & Sl |1 ve sradiier w6 98T giEm

1. Only B and C portions turned blue black. / FId B 3R C YT 1 &1t T H gt M|

2. Only A and B portions remained colourless and the rest of the leaf turned blue black. / FId A 3R B HFT 9T Q% 3R 91! B Ui
Hid B T H 5 TE|

3. A, B and C portions remained colourless and the rest of the leaf turned blue black. / A, B 3R € HFT S Q% 3R 91! B U=l
FId 1 H 95 T8
4. Whole leaf turned blue black. / Tt T=ft It &1 ¥1 & S TS|

Correct Answer :-

« Only A and B portions remained colourless and the rest of the leaf turned blue black. / FId A 3R B HFT AT ® 3R §TB B
o A BT T H ged T |

99) Nitrogen is always a limiting nutrient in many ecosystem because: /

TSI FHNM F UIRTRAITISY @ # vor Hifira vive a giar g Fife:

1. Most organisms cannot use element nitrogen / HfYHad Sitg dd :lTs_ng\_rF[ B IUANT -5 HR b
2. Element nitrogen is used by all organisms / dcd :ﬂ%‘gﬁﬁﬂ goft Sftal gRT 3%aHTa o ST g

3. By pollution the availability is reduced / HGHUT Y IR HH B STt §

4. By the production of fertilizer the availability is reduced / SR® & IdIe I SUAKIA HH g1 ST %

Correct Answer :-

» Most organisms cannot use element nitrogen / JfIFHIH g dd | $'cj S BT IR 'TEﬂW Tghd

100) One of the statements made below about tissue culture is not applicable to it. Identify the statement. /
Fad Tat & IR A 1 R T Y A A Ue 39 W IugE 81 7 | HYH UgAa |
1. Many plants can be grown from one parent in disease free condition. /
e T o a1 & T S ° I of Il & |
2. New plants are grown by removing cells/tissues from the growing tip of the plant. /

TN T P A foU A BRSBTS dd! o) geThr TR WA 8 |



3. All the characters present in the parent plant can be observed in the plantlets. /
S UIY § IufRud et A&7 uTgues! B 41 o 9ahd 6|
4. This technique is commonly used for ornamental plants so that combination of desired characters can be obtained. /

T TPh-1cp JIHTC: TolTac! el & forT IuTNT &) wiTdt § For ) aifesd deiuit o1 Taro UTe fobar o 9o |

Correct Answer :-

« This technique is commonly used for ornamental plants so that combination of desired characters can be obtained. /

g dPp-1cp JIHTC: Tolac! Melf & forT IuanT &) it & for ) aifesd deiuit &1 Tarer uT fobar o 9o |




